Q - |+Z&_P)
26 I
. —%a e . 2
p | + 2°F¢ el 2

;‘— (epng)L
(- . ok T
é) § T’(t A) - ?(C[leﬂ' thyd &“(HZC \M))
o | Do (P Iw = zi: —“7600 ( €<o )
S22 B+ T b by = g L1 o [
2 D L
At}k‘tﬂ*“)
e | )« ‘F’70
§= = ( j/{ tlyT &J) = g % (Al akh
- €ty Clﬁcb}
C> . | ()) . C‘V’i
[ 47 Pe ' | [+ 20T
/
4) B TR/ A FE=2 e b
T = - ¢ ( e |
T LT €0 gl Anvers



7.1

- S‘ma,(,, -@DWL:«&, PL/\csL—S(]RLL fQA‘)J\Y
Z
\S%PM‘) :—b% C—PP/Z”‘
— km,vx[.ﬂvx—v . & \IL(VC\‘L\} , /"“WLLT"“[L ent
. 3/
5 _ b b _ e
E(-\/> (ZTT kyT ) ¢ P )
/ -
Y = Ny = N ) = Ve (v vco,e)
RS DR P )
CZ N X > - ——C—?. _I/V\_
P ) = v B SV —w e 2w

O l/L Wy
- A L. Vit
S_;\ Vx ZGL.}T ) C lﬂl 6\(\/; - -\%— (\/O’\)) >
I/L 1a CZ (\)‘\V)



a _ 5
1) R oograt e ffeds ()

h

&l = &ll«\-\ (Qi(»k =—|‘3‘(ZFWLBT )?/L Lmjo(rrl Q‘YM(\
! ) ]
" LLJ’\E (ZW\’\—\ (1@7> i Z.(k—:‘)s

A= ki 0Qu = —ungem(% (evtar I %.—)z)ﬂgw

r . _Jd - AR — - |
‘CV: %{ng ((/LA Liveti Aoﬁ ﬁ/’\’”i[(g
Lads pvlﬁvb\'% v l‘l})

—

ket

V@) - N (@) Ra) o P



